
PG36CL-3

0420 PG36CL-3 PARTS

CHIMNEY CAP (1) 
PG24-5

CHIMNEY (1) 
PG24-84H

PG36XR-1 HARDWARE KIT�
PG24-79 CHIMNEY HARDWARE KIT�

UPPER COOKING  RACK (2) 
PG36SGX-7

LOWER GRATE (2) 
PG24-70

PG36 LOWER GRATE (1) 
PG36-21

M8 NUT (2)

HEAT DEFLECTOR (1) 
PG24SG-2

HANDLE (1) 
PG24-57 HANDLE BEZEL (2) 

PG24-71
HANDLE DEFECTOR (1) 
PG24-58

HANDLE SCREW (2) 
PG24-59

SHELF (1) 
PG36CL-1

M6 X 15 BOLT (5)
PULLOUT LOCK (1) 
PG24-42

PULLOUT KNOB (2) 
PG24-9

PG36 BURNER PULLOUT (1) 
PG36-8

GREASE BUCKET (1) 
PG24-11

M8 X 20 BOLT (12)   >>   8 ON LEGS, 4 ON 
M8 LOCK WASHER (12) BOTTOM SHELF 

FRONT RIGHT LEG (1) 
PG24ZG-13CE

WHEEL (2) 
PG24-16

WHEEL AXLE (2) 
PG24-66CEFRONT LEFT LEG (1) 

PG36ZG-2CE

ASH CUP (1) 
PG24-17

PG36 SWIVEL CASTER (2) 
PG36-7

FEED GASKET (1) 
PG24-34

PROBE COVER (1) 
PG24-54

THERMOMETER (1) 
PG24-44

PULL ROD (1) 
PG24SG-3

M6 X 76 BOLT (1)

M6 NUT (1)

CHIMNEY GASKET (1) 
PG24-85

M6 X 15 BOLT (3) DRIP TRAY (1) 
PG36SGX-1

SLIDE ROD (2) 
PG36SGX-2

REAR LEFT LEG (1) 
PG36ZG-1CE

HOPPER ASM (1)�
PG24CL-2

 LID(1)
 PG36SGX-8S

BOTTOM SHELF (1) 
PG36-20 M10 ACORN NUT (2)

M10 FLAT WASHER (2)

REAR RIGHT LEG (1) 
PG24ZG-12CE

M6 X 15 SCREW (4)

UPPER GRATE BRACKET (2) 
PG24SG-11ST4.2 X 10 SCREW (6)

COVER PLATE (1) 
PG36SGX0-1

e72526
Rectangle



1119 PG24CL-2 PARTS

M3X8 BOLT (4)

LID MAGNET (1) 
PGC24-18

POWER CORD (1) 
PG24-48

HOPPER HANDLE (1) 
PGC24-12

M6 X 15 BOLT (4)

M6 NUT (2)

PULLOUT KNOB (1) 
PG24-9

PULLOUT LOCK (1) 
PG24-42

BOTTLE OPENER (1) 
BTOP-1

AUGER (1) 
PGC24-8

M3X20 4.8 CLASS�
SHEAR PIN W/NUT (1)�

PG24-25

AUGER BUSHING (1) 
PG24-23

AUGER MOTOR WITH IMPELLER (1) 
PG24-24

AUGER IMPELLER (1) 
PG24-49

HEATING ROD (1) 
PG24-21

BURNER (1) 
PG24-78

M4.2 X 10 SCREW (4)

BLOWER IMPELLER (1) 
PG24-27

M4.2 X 10 SCREW (4)

BLOWER MOTOR WITH IMPELLER (1) 
PG24-26

MEAT PROBE (4) 
PG24-28

M4 X 10 SCREW (2)

HOPPER LID (1) 
PG24CL-3 (BLACK)

AUGER GUARD (1) 
PG24CL-4

GUARD PLATE (1) 
PG24CL-5

HOPPER WINDOW ASM (1) 
PG24CL-6

WIFI CONTROLER (1) 
PG24CL-7

HOPPER CLEANOUT (1) 
PG24CL-8

M3 NYLOC NUT (4)





M8 X 20 BOLT

M8 LOCK WASHER



M8 X 20 BOLT M8 LOCK WASHER



PG24-57 (1)
HANDLE

PG24-59 (2)�
M6 HANDLE SCREW

PG24-58 (1)�
HANDLE DEFLECTOR

PG24-71 (2)
HANDLE BEZEL



PULLOUT KNOB (3) 
PG24-9

PG36 BURNER PULLOUT (1) 
PG36-8

HAIRPIN STOP LOCK BUSHING (1) 
PG24-76



FEED GASKET (1) 
PG24-34

THERMOMETER (1) 
PG24-44

HOPPER TUBE

ROUTE THERMOMETER 
THROUGH THIS HOLE



PG36 BURNER PULLOUT (1) 
PG36-8

THERMOMETER (1) 
PG24-44

HOPPER ASM (1) 
PG24CL-2

COVER PLATE (1) 
PG36SGX0-1

ST4.2 X 10 SCREW (6)

M6 X 15 BOLT (9)

HOPPER END



UPPER GRATE BRACKET (2) 
PG24SG-11

M6 X 15 SCREW (4) 

M6 FLANGE NUT (4) 



DRIP TRAY



HEAT DEFLECTOR (1) 
PG24SG-2

PULLOUT KNOB (3) 
PG24-9

PULL ROD (1) 
PG24SG-3

SLIDE ROD (2) 
PG36SGX-2

M8 X 1 JAM NUT (1) 

DRIP TRAY (1) 
PG36SGX-1



LOWER GRATE (2) 
PG24-70

LOWER GRATE (1) 
PG36-21

UPPER COOKING RACK (2) 
PG36SGX-7



ASH CUP



PROBE HOLE
PROBE



HOPPER CLEANOUT






